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X5 %W (C) WO (%) EHEE (%)

H 5 Bom R K|E BlE slE K| B|lER O&85|& K|F OB
AE ] 35.0 -3.6 16. 4 99.5 11.8 69.0 90. 5 37. 2 69.
1 H 16. 0 -3.6 5.9 94. 8 13.6 59.5 76.9 43.6 59.
2 H 21.2 -2.3 6.4 96. 1 11.8 57.6 73.1 37. 2 58.
3 H 22.8 0.7 10. 3 94. 7 16. 8 59.6 79.6 37.9 59.
4 H 25.2 2.8 14.7 97.5 26. 0 69.7 81.8 56. 4 69.
5 H 29.1 10. 2 20. 2 98.0 23.6 67.1 78. 8 53.2 67.
6 H 27.9 13.3 21.3 97. 8 31.5 7.3 84. 7 50.0 76.
7 H 35.0 18.6 26.0 98.9 42. 4 78. 4 90. 5 63.7 78.
8 H 34.6 17.6 26.9 98. 3 41.9 76.5 83.5 69. 2 76.
9 H 32.0 15. 2 22.7 99.1 30. 8 77.6 88.5 50.0 78.
1 0AH 28.0 8.9 18.4 97.0 21.8 68.0 78. 4 55.2 67.
1 1AH 24.6 4.3 14.5 98.1 15.7 73.0 84.9 56. 4 73.
1 2 A4 24.17 -0.1 9.9 99.5 24. 3 63.9 74. 2 53.3 64.
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x5y Ao (n/s) v sl &KX ooy
10m ML E
Sy B B oK D [ ARE=A H% | H %% M = [ARE=A
H Bl JL 3 JEL 3 58 A H % (mm) (mm) (mm)
F 2.3 33. 7 174 1873.5| 132 3 112. 14.
1 A 2.1 20. 1 11 126.0] 10 1 27. 12.
2 A 2.3 18. 1 14 44.5 7 2 15. 6.
3 A 2.6 22. 6 19 133.0] 14 0 40. 9.
4 A 2.7 20. 1 20 128.0] 11 0 45, 11.
5 H 2.7 18. 1 18 100. 5 4 0 72. 25.
6 H 2.1 14.5 9 168.0| 16 0 38. 10.
7 A 2.5 22.9 16 382.5] 16 0 112. 23.
s A 2.3 15.8 17 149. 5 11 0 85. 13.
9 H 2.1 19. 2 12 314.0] 14 0 67. 2.
104 2.3 33. 7 17 41.0 5 0 14. 8.
114 2.0 20. 4 8 168.0| 14 0 31. 12.
124 2.9 31.6 13 118.5! 10 0 94, 11.
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M 14. 17.6[15.5

1 A 7. 23.220. 8

2 A 8. 19. 1]17. 4

3 A 10. 15.2[14. 9

4 A 15. 11.9]11.8

5 A 26. 15.8[12. 2

6 A 28. 15.4[13. 4

7 A 1 19. 12.9]11. 2

8 A 19. 10. 3]10. 2

9 A 1 13. 19. 4[18. 8
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.5y 4 | (C) O (%) %58 (%)
5l Bomlk B|F m|k &K K| BW|RE B|RE OK|T B
&F ] 35.4 -3. 16. 1 99.9 16. 2 72.5 95.3 40.5 72.
1 H 15.0 -3. 5.7 96. 5 18.3 63. 2 81.1 45.0 63.
2 H 21.7 -2. 6.0 98. 8 16. 2 62.2 78.5 40.5 62.
3 A 22.6 -0. 10. 1 97. 7 17.9 63.3 83.9 42.6 62.
4 A 26.3 3. 14.8 99.9 34.3 2.7 86. 2 60. 3 72.
5 H 29.0 8. 20. 2 99. 6 25.0 68. 3 81.4 57.2 68.
6 H 28.9 13. 21.1 98.9 42.3 79.5 86. 9 50.0 78.
7 A 34.1 18. 25.8 99.9 47.0 81. 95.3 68. 3 81.
8 A 35.4 17. 26.7 99.5 46. 0 78.9 89.3 70.8 78.
9 A 31.6 13. 22.0 99.9 36.7 81.5 93.2 50.0 82.
1 0H 27. 7 8. 17.8 99.9 29.1 71.9 81.8 59.0 71.
11H 23.5 4. 13.8 99.6 20.4 78.0 88. 8 61.9 78.
1 2AH 23.6 -0. 9.3 99.9 30.8 69. 3 79.5 56. 4 69.
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Yy B R R 73) fe N & H¥ | B % [ N &
H hl JE JE g B B (mm) (mm) (mm)
O 2.0 30. 3 134 2253.0| 134 3 198. 0 16.
1A 2.0 18.2 9 125.0] 10 1 29.5 12.
2 A 1.9 16.9 12 57.0 9 2 17.5 6.
3 A 2.4 23.2 18 136.0f 13 0 47.5 10.
4 A 2.4 23.4 18 197.5| 14 0 61.5 14.
5 A 2.5 18.5 25 103.0 5 0 69.5 20.
6 H 1.8 15.6 5 185.0| 16 0 38.0 11.
7 A 2.4 25.3 18 517.5] 15 0 198.0 34.
8 A 1.8 12.8 6 160. 5 9 0 66.5 17.
9 A 1.6 20.3 5 424.5] 15 0 89.5 28.
10A 1.9 30. 3 10 40.0 6 0 12. 5 6.
11A 1.5 17. 4 3 188.5] 13 0 37.5 14.
12 A 1.8 26.3 5 118.5 9 0 90. 5 13
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(2) EE#® (R 27 4 )

& 2 I S /2 N O W N7 S N 5 W B N [ BB &

P I N B S == EE = | B | | K % | ¥ | W

A 5l
1 il 82| 260 121 3 0 3| 13| 69| 45| 144 3 0 0
1 A 34| 25 3 2 0 21 11 0 0 4 0 0 0
2 A 17 20 3 1 0 1 2 0 0 4 0 0 0
3 A 16| 30| 15 0 0 0 0 0 0 10 0 0 0
4 A o 23 11 0 0 0 0 5 2 8 3 0 0
5 A 3 16/ 10 0 0 0 0 1 1 4 0 0 0
6 A 0 10 4 0 0 0 0 7 5/ 12 0 0 0
7 A 0| 30/ 25 0 0 0 o 21| 12| 25 0 0 0
8 A of 12/ 16 0 0 0 0 6 5 30 0 0 0
9 A o 37 14 0 0 0 ol 20/ 12| 32 0 0 0
10 A 3l 18 9 0 0 0 0 5 4 4 0 0 0
11 H 0 16 3 0 0 0 0 1 0 4 0 0 0
12 A 9] 23 8 0 0 0 0 3 4 7 0 0 0
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